WORM REDUCER E SERIES
bR ER R ZERE E 251

MODEL : E A
R
N
!
Input Shaft = 8
AT T
h -
L Output Shaft -
gl HhE
1 T 1
BE
BD
MODEL : EO A
AB
HS
HK
Sa =
g f g _*
™ — )
W« = — Q
Input Shaft © .
- > ANE —
o2
—1
| || Output Bore -
, A - HAA
unit: mm il I il
y5 HA ‘ BE ‘
B3k Output Bore - 8-ZxL
foce mn- BD
40 20 22.8
50 6 20 22.8
60 8 25 283
70 8 30 333
80 10 35 38.3
100 10 40 43.3
120 12 45 483 R L \'} w wv
E9 |15 &8 S Bl [3]3212 Shaft Direction
unit: mm
Ratio \ HP AT18 7% W%ight
BB|cC|HL Foot Stock Input Shaft Output Shaft g
1110~ [ 1740~
ol Toolo] 2 il o [ ol oo ﬂm
18 - 139.5 86 122 88 80 40 28 116 92 76 55 M6x12 25 12 13.5 4x4x20 30 15 17 5x5x25
174 - 178 105 147 98 98 50 35 65 150 115 90 70 50 M8x16 30 12 13.5 4x4x25 40 17 19 5x5x35 6.2 7.2

12 1/4 198 120 165 108 110 60 42 75 177 124 100 77 55 M10x18 40 15 17 5x5x35 50 22 25 7x7x45 9.2 10.4
1 12 235 140 193 128 130 70 50 85 205 154 125 85 65 M10x18 40 18 20 5x5x35 60 28 31 7x7x55 14 14.2
1 268 161 208 138 140 80 60 92 232 174 145 96 75 M10x18 50 22 25 7x7x45 65 32 35 10x8x60 18.4 20.4
100 3 2 323 190 258 178 170 100 75 115 290 225 185 116 85 M12x20 50 25 28 7x7x45 75 38 41 10x8x70 34.6 35.4
120 5 3 391 231 288 198 190 120 95 155 370 264 220 132 100 M14x28 65 30 33 7x7x60 85 45 48 12x8x80 56.8 58.2
136 71/2 5 438 258 319 218 214 135 105 185 425 306 260 150 110 M16x30 75 35 38 10x8x70 95 55 59 15x10x90 81.2 78.8

G30




